43
48
13
11
6
15
14
9
40

53

42

53

17

44

21

49
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10

46

11

46



246
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24

25

24
1 1 0.04ppm
1 0.1ppm
1 1 10ppm
1 8 20ppm
1 1 0.10mg/m?

1 0.20mg/m?
1 1 0.04ppm 0.06ppm
1 0.06ppm
1 0.003mg/m?
1 0.2mg/m?
1 0.2mg/m?
1 0.15mg/m?
1 0.6pg-TEQ/m®
1 15y g/m?
1 35u g/m?
25
1
2
1 1
2
1
98

1

98 1
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22

26

26

- 25 -




SO,
SOx
1 1 0.04ppm 1 0.1ppm
22 21
27
1 1
1 0.04ppm 1 0.1ppm
1 2 1 0.04ppm
2 0.003ppm
0.04ppm 1 0.04ppm
1 0.001ppm 0.004ppm
22 1 8 7 4 0.054ppm
27 S0,
360
8603

1 0.001ppm

1 0.1ppm 0

1 0.04ppm 0

1 2 0.04ppm 0.003ppm

1 0.04ppm 0
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9 S0, 1
m
(gp037 . * 1
- .\
0.005 .\\\\\\e . -
0.003 \
0.001 \\\\¥
13 14 15 16 17 18 19 20 21 22
- - | 0.006|0.005 | 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.001
0.007 | 0.006 | - - - - - - - -
10 S0, 1 2
(ppm)
0.018 —— .
A\ —A—
0.013 A
0.008 R
0.003 N
13 14 15 16 17 18 19 20 21 22
- - 0.010 | 0.010 | 0.009 | 0.008 | 0.007 | 0.007 | 0.007 | 0.003
0.016 | 0.013 - - - - - - -
28 S0,
1 0.1ppm 1 0.04ppm
13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22
! 0-1ppm 1/ o]lo]|o|2|0o|lo0o|lololo
0-04ppm 1 o 1 g | 0l o] o] ololo]| ol o
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co

1 10ppm 1 8
20ppm
22
29
8
10ppm 8 20ppm
1 2 1 10ppm
1 2 0.8ppm
0.8ppm 1 10ppm
1 0.5ppm 0.6ppm
0.5ppm 0.5ppm
22 1 12 30
2.0ppm 11 30 8 2.0ppm
29 co
365 358
8682 8554
1 0.5ppm 0.5ppm
1 10ppm 0 0
8 20ppm 0 0
1 2 0.8ppm 0.8ppm
1 10ppm 0 0
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11 CO 1
(ppm)
1.0
0.5 —-— -
+
13 14 15 16 17 18 19 20 21 22
1.1 | 1.0 | 0.9 | 0.8 | 0.8 | 0.7 | 0.6 | 0.6 | 0.6 | 0.5
- 1.0 | 0.9 | 0.8 | 0.8 | 0.6 | 0.6 | 0.6 | 0.5 | 0.5
12 €O 1
(ppm)
2.0
1.5 .\‘\ A
1.0 —" s
+
13 14 15 16 17 18 19 20 21 22
1.7 | 1.6 | 1.4 | 1.2 | 1.3 | 1.1 | 1.0 | 0.9 | 0.9 | 0.8
- 1.7 | 1.4 | 1.6 | 1.2 | 1.0 | 1.0 | 1.0 | 0.8 | 0.8
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SPM PM2.5

10y m
1 1 0.10mg/m? 1 0.20mg/m?
2.5um 50
2.5um
1 15p g/m? 1 35u g/m?
22
22 21 SPM
30
1 1
1 0.10mg/m? 1
0.20mg/m?
1 2 1 0.10mg/m?
1 2
0.049mg/m? 0.050mg/m? 0.056mg/m? 1
0.10mg/m?
1 0.022mg/m* 0.022mg/m?
0.023mg/m* 0.023mg/m? 0.029mg/m?
0.028mg/m?
22 1 2 6
9 0.110mg/m? 11 12 7 0.103mg/m*
28 4 0.134mg/m®
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30 SPM
278
6680
1 0.022mg/m?
1 0.20mg/m? 0
1 0.10mg/m? 0
1 2 0.049mg/m?
1 0.10mg/m? 0
364
8693
1 0.023mg/m?
1 0.20mg/m? 0
1 0.10mg/m? 0
1 2 0.050mg/m*
1 0.10mg/m? 0
360
8638
1 0.029mg/m?
1 0.20mg/m? 0
1 0.10mg/m? 0
1 2 0.056mg/m?
1 0.10mg/m? 0
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13 SPM 1

3
(mg/m*)
—.—
0.06
+
+
0.04 |
0.02
13 14 15 16 17 18 19 20 21 22
- - 0.033 | 0.039 | 0.034 | 0.034 | 0.028 | 0.027 | 0.022 | 0.022
0.052 | 0.045 | 0.043 | 0.036 | 0.037 | 0.037 | 0.032 | 0.030 | 0.023 | 0.023
- 0.051 | 0.045 | 0.041 | 0.040 | 0.036 | 0.034 | 0.031 | 0.028 | 0.029
0.040 | 0.036 - - - - - - - -
14 SPM 1 2
3
(mg/m*)
0.15
+
+
0.10 | "N
—-X
0.05
13 14 15 16 17 18 19 20 21 22
- - 0.070 | 0.073 | 0.066 | 0.074 | 0.063 | 0.057 | 0.050 | 0.049
0.110 | 0.106 | 0.089 | 0.074 | 0.084 | 0.082 | 0.070 | 0.065 | 0.043 | 0.050
- 0.119 | 0.087 | 0.072 | 0.072 | 0.070 | 0.066 | 0.057 | 0.049 | 0.056
0.089 | 0.092 - - - - - - - -
31 SPM 1 0.10mg/m?

13 14 15 16 17 | 18 | 19 | 20 | 21 | 22
- 0 0 0 0 0 0 0 0
13 9 5 1 3 0 0 0 0 0
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NO,

1 1 0.04ppm 0.06ppm
22 21
32
1
1 98 1
98 0.033ppm 0.049ppm 0.045ppm
1 0.018ppm 0.031ppm
0.032ppm 0.019ppm 0.032ppm 0.033ppm
22 2 5 7 0.069ppm
2 23 6 0.076ppm 10 13 6
2 5 6 0.078ppm
32 NO,
362

8619
1 0.018ppm
1 0.06ppm 0
1 98 0.033ppm

363 363

8641 8639
1 0.031ppm 0.032ppm
1 0.06ppm 0 0
1 98 0.049ppm 0.045ppm
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15 NO, 1

(ppm)

0.04 B———a———8_

\\0—\
0.02 b— —=—

13 14 15 16 17 18 19 20 21 22

- - 0.029 | 0.026 | 0.025 | 0.025 | 0.023 | 0.020 | 0.019 | 0.018

0.041 | 0.041 | 0.041 | 0.038 | 0.038 | 0.037 | 0.035 | 0.033 | 0.032 | 0.031

- 0.039 | 0.035 | 0.035 | 0.036 | 0.036 | 0.036 | 0.034 | 0.033 | 0.032

0.0330.031 | - - _ _ _ _ _ _
16 NO, 1 98
(ppm)
0.06
0.04 b —o— .,
v\’—\—/_‘\’
L,
+

13 14 15 16 17 18 19 20 21 22

- - 0.044 | 0.043 | 0.040 | 0.038 | 0.038 | 0.033 | 0.034 | 0.033

0.062 | 0.062 | 0.062 | 0.058 | 0.056 | 0.056 | 0.052 | 0.051 | 0.048 | 0.049

- 0.057 | 0.049 | 0.049 | 0.051 | 0.050 | 0.050 | 0.051 | 0.051 | 0.045

0.051 | 0.050 - - -

33 NO, 1 0.06ppm

13 14 15 16 17 18 19 20 21 22

8 14 10 3 1 1 0 0 0 0
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0x

1 0.06ppm
0.12ppm
22 21
34
1
448
0.12ppm
13
1 0.029ppm 0.028ppm
22 7 21 4 0.159ppm
34 0x
365
5389
1 0.029ppm
1 0.06ppm 448 8.3
1 0.12ppm 13 0.2
5 20
6 20
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1 1 0.06ppm
(ppm) - . (
C—/10.06ppm I
_._ 1 — —
0.040 ————— —o— —1 400
| = -t " L o I —

0.020 — —1 200

13 14 15 16 17 18 19 20 21 22

- - 0.023 | 0.023 | 0.027 | 0.027 | 0.029 | 0.029 | 0.028 | 0.029

0.024 | 0.024 - - - - - - - -

0-06ppnm 132 | 196 | 159 | 208 | 540 | 460 | 566 | 508 | 449 | 448
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35 1
13 14 15 16 17 18 19 20 21 22
S0, (0.007) (0.006) 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.001
ppm
= SPH (0.040) (0.036) 0.033 0.039 0.034 0.034 0.028 0.027 0.022 0.022
mg/m
NO, (0.033) (0.031) 0.029 0.026 0.025 0.025 0.023 0.020 0.019 0.018
~ ppm
e )
Ox (0.024) (0.024) 0.023 0.023 0.027 0.027 0.029 0.029 0.028 0.029
ppm
(6{0]
1.1 1.0 0.9 0.8 0.8 0.7 0.6 0.6 0.6 0.5
ppm
SPM
= 0.052 0.045 0.043 0.036 0.037 0.037 0.032 0.030 0.023 0.023
mg/m
NO, 0.041 0.041 0.041 0.038 0.038 0.037 0.035 0.033 0.032 0.031
ppm
(6{0]
1.0 0.9 0.8 0.8 0.6 0.6 0.6 0.5 0.5
ppm 14
= SPH 0.051 0.045 0.041 0.040 0.036 0.034 0.031 0.028 0.029
mg/m
N0 0.039 0.035 0.035 0.036 0.036 0.036 0.034 0.033 0.032
ppm
)
5 20

- 37 -




22 4 1 23 3 31
301-10
UVAD-1000A
53 7 12
2
36
22 1 0.06ppm 400
0.12ppm 7
1 0.033ppm 0.027ppm
22 1 7 21 4
5 0.140ppm
36 0x
356
5258
1 0.033ppm
1 0.06ppnm 400 7.6
1 0.12ppm 7 0.1
5 20
6 20
18 Ox
1 1 0.06ppm
(ppm) —
—— I — P
0.030 ’_______.///////’,,,,,;,.‘==::::2:::==.=;,7 ——
0.020 ] — -
0.010 -
13 14 15 16 17 18 19 20 21 22
(0.024)[(0.023)| 0.027 | 0.030 | 0.032 | 0.029 | 0.032 | 0.031 | 0.027 | 0.033
0.06ppm | o260 | 315 | 203 | 426 | 485 | 351 | 381 | 396 | 359 | 400
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600

400

200



22 4 1 23 3 31

658
UVAD-1000A
54 9 12
2
37
22 1 0.06ppm 487
0.12ppm 18
1 0.031ppm 0.028ppm
22 1 7 21 4
0.154ppm
37 0x
351
5087
1 0.031ppm
1 0.06ppn 487 9.6
1 0.12ppm 18 0.4
5 20
6 20
19 Ox
1 1 0.06ppm
(ppm) — (
0.020 \/ — 400
0.010 [ — 200
13 14 15 16 17 18 19 20 21 22
(0.019)|(0.016)| 0.020 | 0.025 | 0.027 | 0.023 | 0.028 | 0.028 | 0.028 | 0.031
0.06pPM | 597 | 269 | 204 | 317 | 512 | 201 | 484 | 479 | 417 | 487
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22 4 1 23 3 31
1429
GUX-253
59 4 2 5
18 5
38
22 1 0.06ppm 413
0.12ppm
1 0.034ppm 0.032ppm
22 1 7 21
0.119ppm
38 0x
365
5413
1 0.034ppm
1 0.06ppn 413 7.6
1 0.12ppm 0
5 20
6 20
20 Ox
1 1 0.06ppm
ppm —=20.06ppm
0.030 ——
0.020 *
0.010
0 0] =
13 14 15 16 17 18 19 20 21 22
(0.023)[(0.020)| 0.022 | 0.023 | 0.032 | 0.033 | 0.035 | 0.033 | 0.032 | 0.034
0-06ppm | 105 | 143 | 176 77 323 | 502 | 559 | 463 | 446 | 413

- 40 -

600

400

200



22 4 1 23 3 31
262
CLAD-1000A
5 9 12
39
1 0.06ppm
1 98 0.056ppm
1 0.035ppm 0.038ppm
22 1 1 25
0.09ppm
39 NO,
361
8572
1 0.035ppm
1 0.06ppm 0
1 98 0.056ppm
21 NO,
1 0.06ppm 1 98
ppm
0.060 e —
=3 0.06ppm
0.020 1 98
P s IR I I
13 14 15 16 17 18 19 20 21 22
0.06ppm | ¢ 7 2 6 2 5 5 2 9 0
98 0.054 | 0.054 | 0.056 | 0.060 | 0.057 | 0.058 | 0.058 | 0.059 | 0.067 | 0.056

- 41 -

30

10



2 4 1 23 3 31
4-1-1
CLAD-1000A
60 9 4
15 3
40
1 0.06ppm
1 98 0.025ppm
1 0.012ppm 0.014ppm
22 1 5 24
0.053ppm
40 NO,
358
8490
1 0.012ppm
1 0.06ppm 0
1 98 0.025ppm
22 NO,
1 0.06ppm 1 98
(ppm)
==0.06
0.060 — PP
——1 98
. O—W
13 14 15 16 17 18 19 20 21 22
0.06ppm 0 0 0 0 0 0 0 0 0 0
98 0.032 | 0.032 | 0.033 | 0.031 | 0.028 | 0.032 | 0.031 | 0.031 | 0.026 | 0.025
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2 4 1 23 3 31
5 12
CLAD-1000A
15 8 16
41
1 0.06ppm
1 98 0.029ppm
1 0.016ppm 0.017ppm
22 1 2 5
0.06ppm
41 NO,
357
8547
1 0.016ppm
1 0.06ppm 0
1 98 0.029ppm
23 NO,
0.06ppm 1 98
(ppm)
=0 0.06ppm
0.060
——1 98
0.020
13 14 15 16 17 18 19 20 21 22
0.06ppm 0 0 0 0 0 0 0
98 \ 0.034 | 0.031 | 0.035 | 0.032 | 0.033 | 0.029 | 0.029
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22 4 1 23 3 31
5 12
BRAD-1000A
15 8 16
42
22 1 0.20mg/m?
1 0.10mg/m?
1 2 0.047mg/m?
1 0.018mg/m? 0.023mg/m?
22 1 6 15
0.122mg/m?
42 SPM
360
8651
1 0.018mg/m*
1 0.20mg/m? 0
1 0.10mg/m? 0
1 2 0.047mg/m?
1 0.10mg/m? 0
24 SPM
0.10mg/m? 1 98
(mg/m°)
A
— o
=30.10mg/m3
——1 98
0.020
1
13 14 15 16 17 18 19 20 21 22
3
0.10mg/m \ 0 0 1 0 0 0 0
\ 0.073 | 0.073 | 0.087 | 0.058 | 0.062 | 0.051 | 0.047

- 44 -
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43

13 14 15 16 17 18 19 20 21 22

(0.024) | (0.023) 0.027 0.030 0.032 0.029 0.032 0.031 0.027 0.033

(0.019) | (0.016) 0.020 0.025 0.027 0.023 0.028 0.028 0.028 0.031

(0.023) | (0.020) 0.022 0.023 0.032 0.033 0.035 0.033 0.032 0.034

0.038 0.038 0.036 0.038 0.039 0.040 0.040 0.038 0.038 0.035

0.020 0.020 0.018 0.015 0.017 0.017 0.016 0.014 0.014 0.012
0.019 0.020 0.022 0.019 0.019 0.017 0.016
0.036 0.041 0.033 0.025 0.027 0.023 0.018

5

- 45 -




25

m
(ppm)
—.—
—h— W
0.03 - = \//\\ ///-
—¥— P \:7
0.02
13 14 15 16 17 18 19 20 21 22
(0.024)((0.023)| 0.027 | 0.030 | 0.032 | 0.029 | 0.032 | 0.031 | 0.027 | 0.033
(0.019){(0.016)| 0.020 | 0.025 | 0.027 | 0.023 | 0.028 | 0.028 | 0.028 | 0.031
(0.023){(0.020)| 0.022 | 0.023 | 0.032 | 0.033 | 0.035 | 0.033 | 0.032 | 0.034
— — 0.023 | 0.023 | 0.027 | 0.027 | 0.029 | 0.029 | 0.028 | 0.029
0.024 | 0.024 — — — — — — — —
5 20
26
(ppm)
—.—
0.04 —a— —
+
0.03 S
0.02 | = —
13 14 15 16 17 18 19 20 21 22
0.020 | 0.020 | 0.018 | 0.015 | 0.017 | 0.017 | 0.016 | 0.014 | 0.014 | 0.012
— — 0.029 | 0.026 | 0.025 | 0.025 | 0.023 | 0.020 | 0.019 | 0.018
0.033 | 0.031 — — — — — — — —
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27

(ppm)
0.04 — A4~ o \_\
0.03
o
.
0.02 — 4 7-/-\
- \-—-\.‘\.
13 14 15 16 17 18 19 20 21 22
0.038 | 0.038 | 0.036 | 0.038 | 0.039 | 0.040 | 0.040 | 0.038 | 0.038 | 0.035
— — — 1 0.019 | 0.020 | 0.022 | 0.019 | 0.019 | 0.017 | 0.016
0.041 | 0.041 | 0.041 | 0.038 | 0.038 | 0.037 | 0.035 | 0.033 | 0.032 | 0.031
— | 0.039 | 0.035 | 0.035 | 0.036 | 0.036 | 0.036 | 0.034 | 0.033 | 0.032
28
(mg/m°)
e
.
0.05 |2\ —a—
e
e
0.04 |—x
\
0.03 e
13 14 15 16 17 18 19 20 21 22
— — — | 0.036 | 0.041 | 0.033 | 0.025 | 0.027 | 0.023 | 0.018
— — |1 0.033 | 0.039 | 0.034 | 0.034 | 0.028 | 0.027 | 0.022 | 0.022
0.052 | 0.045 | 0.043 | 0.036 | 0.037 | 0.037 | 0.032 | 0.030 | 0.023 | 0.023
— | 0.052 | 0.045 | 0.041 | 0.040 | 0.036 | 0.034 | 0.031 | 0.028 | 0.029
0.040 | 0.036 | — — — — — — — —
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45 46
62
4 10
62
3m
6km
25
2 2 3
60
63
63
B
A
0x 0.12ppm
0x 0.24ppm
B 10 5
0x
8

11
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66 22

(0)%
(ppm) :
1 (7 21 ( )|14:20 18:20 0.163 | 16:00
2 |7 23 ( )|13:20 17:20 0.142 | 14:00
3 (7 24 ( )|13:20 16:20 0.130 | 14:00
4 |8 30 ( )|13:20 17:20 0.144 | 14:00
5 19 12 ( )|12:20 18:20 0.151 | 15:00
67
)| m
= .
10 ] ]
T L L | B
13 14 15 16 17 18 19 20 21 22
13 11 6 16 7 14 20 11 4 10
6 4 1 1 4 12 10 4 2 5
68
) —
]
200—
100 ]
- — = M
13 14 15 16 17 18 19 20 21 22
1 124 | 17 4 276 | 199 4 14 5 26
0 0 0 0 0 0 2 9 1 0
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16

47

58
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46

46

46



Web

A\ 4

- 52 -

0463-24-3322

g




14
10
15 16
1
22
69

12
7
4
69
0.6pg-TEQ/m?
22
8 2
0.025 0.050 0.038
0.020 0.031 0.025
70

15

11 7

0.038pg-TEQ/m?

pg-TEQ/m®

(pg-TEQ/m®)

0.3
0.2
0.1
13 14 15 16 17 18 19 20 21 22
0.35 | 0.11 |0.091*| 0.12* | 0.077 | 0.048 | 0.056 | 0.054 | 0.039 | 0.038
0.22 | 0.099 | 0.063 | 0.058 | 0.068 | 0.045 | 0.034 | 0.029 | 0.030 | 0.025

- B3 -



9 4 1 2 9
13
9
12 22
19
15 16
1
22 71
11 8
21
71 u g/m
22 22 21
1.1 1.2 1.2 3
0.49 0.55 0.58 200
0.14 0.25 0.17 200
1.6 1.8 1.7 150
0.036 0.050 0.040 2
0.0066 0.024 0.013 10
0.0025 0.0023 0.0026 0.04
0.0036 0.0036 0.0043 0.025
0.12 0.18 0.095 18
1,2- 0.14 0.17 0.065 1.6
1,3- 0.088 0.11 0.15 2.5
2.4 2.2 3.8 5
2.1 2.3 3.0 0.8"
0.00099 0.00089 0.0016 0.0023"
0.000017 0.000014 0.000020 0.0042"
0.024 0.021 0.029 0.15°
0.0039 0.0034 0.0054 0.00083"
a 0.00015 0.00012 0.000098 0.00011°
0.069 0.070 0.096
EPA 10°°
o WHO 1996
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11 7

17
9 18
3
12
4
22 72
72 g/m?
22 22 21

7.8 7.1 10 260
2.7 2.4 3.6 870
2.3 2.0 3.3 3800

p- 0.40 0.43 0.80 240
1.6 1.9 1.7 150

* 1.1 1.2 1.2 3

1,3- 0.088 0.11 0.15 2.5
0.24 0.18 0.19 220
0.49 0.40 0.58 200
2.1 2.0 3.0 100
2.4 2.3 3.8 48
0.14 0.14 0.19 230

1,3-

- B -




10

9 10
12 4 1 14 12
22 3
23 23 3 1
A 860 kg/
B 1,250 kg/
C 170 kg/
JIS K 0107 JIS Z 8808
1
g/ g/ mg/Nm? mg/Nm?
A 2600 2,177 9.8 9
480 1,393 3.9 700 25
C 230 298 3.5 1
5
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